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Because he is testifying about her, he should not marry her

Overview

The Xn»121 states, ‘one who redeems a captive woman, may marry her, however if
he testifies (that she was not defiled) he may not marry her.” The X3 asked,
‘because he testified, therefore he cannot marry her’?' This question requires some
clarification.”
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We assumed in the question that when the Xn»921 stated, one who redeems a

captive, he may marry her, it meant even without 2°7¥, who testified that she was
not 77v21.

Summary
In the question we assumed that 7779 was not 7°vn.

Thinking it over
In order to understand the question, '7IRY® RS 72 7ynT Own'; is it necessary to

assume that the X7 maintained that the case of 72 7°¥7 is referring to 77719 (that he
was 179 and 7°¥n) and nevertheless 7IRw> X9, or the question is valid even if we
maintain that 772 7°97 is not referring to 779 (he was only 7°vn)?

! According to 7vn 11"72 °"w" the case of 72 7°vn is where he was both 779 and 7vn, therefore the X nx asks, 2wn
TIRWS K7 72 TOYNT.

? Perhaps we can establish the X2 of the Xn™2 is in a case where he was 779 and there were also 279 (or he was
7yn [as the X2 explains in the answer]), and the X5°0 is where he was only 7°¥n, but not 775 (not like *"w" [see
footnote # 1]), therefore he cannot marry her, so what is the s'X 3 question, 121 72 T°ynw oWwn?

? The question is now readily understood; if a person who was just 779 her, may marry her even if there are no 27y
oY1 KW then certainly if one was [7719 and also] 7921 oW V1 (see X"wan), he should certainly be able to marry
her later. See ‘Thinking it over’.
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